Fast 5

4525 — 245 = 156 + 6 =

30% of 4580

762 x 45 3/5 of 70



4525 — 245 = 4280 156 +6 =26

30% of 4580 = 1374

762 x45 =34290 3/50f70=42



Can | answer addition
problems?



How would we solve this problem?

= 6,000 + 90




The question is just 6000+90 written in a
different order than we’re used to.

6090 = 6,000 + 90




This is a place value question using addition

826 = 800 + + 6

If our number is 826 and we have 800 and 6, we can see that
the only number missing is 2, which is in the 10s column, so we
can record it as 20.

826 = 800 + 20 + 6




There is a method for answering this
qguestion that doesn’t use addition

+ 5 = 341

If we have one of the numbers in a calculation and the answer, we can use our
understanding of Fact Families to find the answer. We can do 341-5 to find our
answer.

341 -5 =336. We can even do 336 + 5 to double check.

336 + 5 = 341




Some questions will be laid out clearly and
we can just answer them normally.

56.38 + 24.7 =




56.38 + 24.7 =

06| 38
28171 |+

i






